—AX AGEHID HiE
0w F

Il [#20- - #%%0, £55HHEE]

B o
5 5
v 76 = 216
24
! 2 Ty
. 4 , 166
9 675
1 [#20 - B2 02, 55 HBEE]
44
| L o
6 5
i 143
3
* 60 7 16
* SO




[0 D A RE] @ECBOTE, BT TEGIEBRLERLIV)

(1)

) = — ___x\/4—x2
YT 2429
4—p? 4 — p?
& : — = .
BPOzEEEpLTRE, BHRORE, y 5 2@ p)@ )

ZORIZ (z,y) =(0,2) ERATB

Vi-p?  p/4-p? 5 4-p* p
2- Y ———2(4_p2)(-p).2\/4_~—_———-——2 ==
REBELT, /Ji-p2=1r%h2%0Tp=13.

koT, AP OERE, (b fp) = Qﬁé)

V3 — 2
(3) / z / V1 —cos?8(—2sin6)df = f 2 sin” Adf
0

=

:/ (1 —cos20)db = [0—%sm29J =

6

.3t
:ﬂ%@ﬁLW@me_QJQm%E Het s
Gj_%_)'_@_(uﬁ):\/g_g

L V3
4
54

ROHEBE»S5E &

= 2 374

1 1 400 5
o / zidy = 7r/ 41 —yHdy == {43} - gyﬂ =5
JL 1 %

2 2

:n%%gygzmﬁ@@zéyM@%onn&urvgémﬁmwﬁ#em<a

1 . 3 5 _2
'3'”(‘/§) 2 8" 3"



[#22 DDA BE] @Eics0TE, iR TEGIEREGEERAN)

5 2
(1) AD =z —z|= (%) +(\/§> =1, ZBADzarg(z4—z1)=g




[ QD #EE)

6t 48t +6 4 18t + %

66 ) 2
Vi 3
36 2 20

m+2 s 53




(B2 QD AMBE] @HIcbTE, SAETTEGIERRESERLEY)

(1) f’(:v):12x2—32x+20=4(3m—5)(a¢—1):OJ:’Ox:l,-g
&
sREedce x| |/ 3
o+ lo - o+
: ‘r,‘;;" b A
seo| Al | R 7
Saz pzl,ng

@ J0)=1,7@) = 5 THEPS,

11
— D
a<27,a>1 & 14HE,

11
o= Frrlla=10L & 21E,

H< 1o &

7 a<1l® 3 1@

(3) 423 1622 +202 7= f(p)=1 & v, (z-1)2%*z-2)=0
ST by x=1, 2
LS P B O#AERIR (2,1) TH 2,

2 2
1
(4) S:/ (1-f(z))dz = / (423 + 1622 — 20z +8)dz = [—a:4+—§x3-10932+8x]§ :%
1 J1



